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Public IP vs. Private IP
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Figure 5.32 ¢ A day in the life of a Web page request: network setting
and actions
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sudo vi /etc/network/interfaces

w N |
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auto lo
8 iface lo inet loopback

15 auto etho

16 iface eth® inet static
17 address 192.168.0.20

18 netmask 255.255.255.0
19 netwrok 192.168.0.0

20 broadcast 192.168.0.255
21 gateway 192.168.0.1

23 dns-nameservers 168.126.63.1 168.126.63.2 8.8.8.8



sudo /etc/init.d/networking restart

$ ping -Cc 5 www.google.com



ifconfig : A Zlelict HERQI E@E8=CLIZ S = U=

TECERT
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ifconfig

HES)S M

ifconfig ethO [IP] netmask [subnet] broadcast [IP]

Z|O|Egflo] ¥H
route add default gw [IP] dev ethO

DNS A&H
vi /etc/resolv.conf
nameserver 211.42.201.138

MAIS
ifconfig ethO down
ifconfig ethO up

HIEQ|3 &tol
ping www.google.com
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sudo /etc/init.d/networking restart

$ ping -Cc 5 www.google.com



sudo /etc/init.d/networking restart

$ ping -Cc 5 www.google.com
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user@ubuntu-korea sudo apt-get install pptpd
user@ubuntu-korea sudo vi /etc/pptpd.conf
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localip 192.168.1.1
remoteip 192.168.1.230-235

user@ubuntu-korea sudo vi /etc/ppp/chap-secrets



SHEZ VPN M| M

ID pptpd password A,

ID pptpd password *
O: jswlinux pptpd weicr$3frf *
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user@ubuntu-korea sudo vi /etc/rc.local

user@ubuntu-korea sudo iptables -t nat -A POSTROUTING -0 ethO -j
MASQUERADE

user@ubuntu-korea sudo vi /etc/sysctl.conf




net.ipv4.ip_forward=1



FEFE VPN M &8 &

PPTP Cl== A|ZfeCt.

user@ubuntu-korea sudo /etc/init.d/pptpd restart
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user@ubuntu-korea - iptables -1 FORWARD -p tcp --tcp-flags SYNRST SYN
-j TCPMSS --clamp-mss-to-pmtu




